Third Hand Signals Vs No Trump I
I. The Lead of an ACE:
Unless there has been a pre-emptive bid or a clear-cut indication that either dummy or declarer has a long running suit, the lead of an ace shows great strength. An ace is most commonly led against a no trump contract when the opening leader holds a four card or longer, which is lacking one high honor. (In the case of AQJT, the Queen is led, especially when the leading has no outside entry). 

Therefore, the opening leader is interested in only 2 things:

1. Does partner have the missing high honor?

2. If not, how many small cards does partner have in the suit?

North






♠ 7 6



West





East



♠ A K Q T 2




♠ 9 4






South






♠ J 8 5 3

West leads the Ace against a no trump contract and East drops the 4, denying a high honor and giving count. West is best advised to shift and hope East can gain the lead to put a spade through South’s guarded Jack.

North






♠ 7 6



West





East



♠ A K Q T 2




♠ 9 4 3






South






♠ J 8 5 

Change one card and East drops the 9. West knows that his suit will run.

North






♠ 9 8 7 






♥ K 8 4






♦ A Q 3






♣ J 4 3 2 



West





East


♠ A K J 5 4




♠ 9 3 2



♥ 7 6





♥ J T 9 5 2


♦ J T 9





♦ 7 6 5 2



♣ 9 7 5





♣ K






South






♠ Q T






♥ A Q 3

  






♦ K 8 4






♣ A Q T 8 6
West leads the Ace of Spades and East drops the nine, giving count. West continues with the King, dropping South’s Queen and collects 5 spade tricks to defeat the contract. If he switches, declarer makes 11 tricks.

II. The Lead of a King:
Although the king is occasionally led from short suit holdings such as KQx, more often than not, the opening leader will have led from 4 card or longer combinations headed by KQJ or KQT. With KQ9x or less, 4th best is led, and with KQT9, the Queen is led requesting partner to drop the Jack if he holds it. The only cards opening leader is interested in are the Ace and the Jack. Holding either, third hand signals encouragement (unblocking a doubleton naturally) and discourages otherwise. Since opening leader will often hold KQJ for this lead, third hand will usually discourage. When declarer holds up and opening leader has KQJ, it is almost always correct to continue the suit (opener knew partner would discourage anyway). 
West leads the ♠K and South ducks as East drops the ♠6. South continues with the ♠Q and East plays the ♠5, declarer ducking again. Can West safely continue?  Unless the defense has the proper agreements, West has no way of knowing. Is the situation
North






♠ 3 2



West





East



♠ K Q J 9 8




♠ 6 5






South






♠ A T 7 4

Or

North






♠ 3 2



West





East



♠ K Q J 9 8




♠ T 6 5






South






♠ A 7 4

The Solution is relatively simple. When West wants East to drop his highest card on the 2nd round, he plays the JACK, rather than the Queen. The Jack requests third hand to drop his highest spot card underneath. Therefore in the previous examples, West does NOT play the Queen at trick two, but instead the Jack. In the first example, East is forced to follow with the 5, and West knows that declarer remains with Ace-Ten. In the 2nd example, East drops the Ten under the Jack and West safely continues the suit to knock out the Ace.

A similar situation: 
North






♠ 3 2



West





East



♠ Q J T 8 7




♠ 9 6 4






South






♠ A K 6
West leads the Queen of Spades and declarer wins the King (not the ACE!), as East drops the 9 (or the 6 – the 9 is clearer). Later, West regains the lead and plays the TEN of spades and East drops the 6 (current standard count). Had East played the 6 the first time, the Ten demands he now drop the 9. Notice that to continue with the lower honor of a 3 card sequence, you must be prepared for partner to unblock his highest spot card. If you cannot afford this, you must play the Jack on the 2nd round.
North






♠ 3 2



West





East


♠ K Q J 6




♠ T 5 4





South






♠ A 9 8 7

West leads the King which holds, and continues with QUEEN, telling partner NOT to unblock. When East plays the 4 on the second round (he played the 5 at trick one to deny the equal honor) it is true that West can not be sure of the position, but at least no tricks have vanished. Never again will we make this mistake, one of the most common defensive errors in the game:
North






♠ 6 2



West





East



♠ K Q T 7 4




♠ 9 8 3






South






♠ A J 5

When Partner leads the King, we know we only signal encouragement with the Ace or Jack. East denies either with the 9, and West knows to shift. 

III. The Lead of a Queen:

Knowing what we now know of other honor leads, the lead of the Queen is easily mastered. The lead will come from QJT or QJ9 (occasionally from KQT9) with or without extended length. Many times it is right to lead low from QJTx (x) and QJ9x (x), especially when the suit has been bid by the opponents. You are hoping partner has then Ten, King, or Ace, and you will be better off with a low lead if he does.
All partner wants to know on the lead of the Queen, is whether you have the Ace, King, or Ten. You signal (low) if you have one of them, and play high if you don’t..

North






♠ 7 5 2



West





East



♠ Q 





♠ T 8 3,
♠ T 3









♠ K 8 3,
♠ K 3









♠ A 8 3,
♠ A 3

With each of the three card holdings above, East plays the 3. With the doubleton holdings he unblocks the honor. With only small cards, he must play high to DENY AN HONOR.

IV. The Lead of a Jack:

As discussed earlier, the lead of a Jack DENIES a higher honor. It should virtually ALWAYS be led from a sequence of JT9 x (x) or JT8x (x). With lesser holdings lead low.
North






♠ 7 3 






♥ 5 3






♦ A Q J 9 8 6






♣ A T 3 



West





East



♠ J T 9 4 2




♠ A 8 6



♥ A Q J 2




♥ T 9 7 4



♦ 4 2





♦ T 7 



♣ 6 4





♣ Q J 8 7






South






♠ K Q 5









♥ K 8 6









♦ K 5 3


  





♣ K 9 5 2

East knows at once that South has the ♠ K Q , along with 6 diamonds and at least 1 club. Therefore, the only chance for the defense rests with the heart suit. East wins the ♠A and shifts to the ♥ 10 to defeat the contract. 

V. The Lead of a Ten:

This shows either AJT, KJT, or top of a sequence. If the Jack is visible, it is obviously top of a sequence. If the 9 is visible, it is obviously either AJT, KJT, or shortness. Confusion should be minimal. When in doubt, assume the stronger holdings.

North






♠ 5 4 3



West





East



♠ K J T 7 2




♠ A 6






South






♠ Q 9 8

West leads the ♠ 10, and even though East can not see the ♠ J or the ♠ 9 to clarify the suit, he optimistically assumes his partner has the strong holding. East wins the ♠A and returns the suit. If, for example, the ♠ J falls from declarer under the ♠A, East must revise his thinking, knowing that declarer started with at least ♠KQJ.  Reverse the North and South holdings and East plays the ♠ 6 under the 
♠ 10. Overtaking and unblocking cannot gain. When the ♠ 10 holds the trick, West continues low. Assuming he has an outside entry (which he would have needed either way), West can later gain the lead and run the suit. 
VI. The Lead of a Nine:

The Nine is led from holdings headed by AT9, KT9, QT9, or top of a sequence. If the TEN is visible, then, obviously, the lead is from top of a sequence. If the Ten is NOT visible, one of the stronger holdings is assumed. 

North






♠ 6 5 4 



West





East



♠ Q T 9 8 2




♠ A 7






South






♠ K J 3

West leads the nine, and even though East can not see the ten, he assumes partner has led from interior strength. If the dummy has the Ten, East knows that South has the ♠ KQJ.

VII. Signaling when partner leads a SPOT CARD:

The lead of a low spot card is usually 4th best. Normally the problem will not be one of signaling, because third hand simply protects partner by playing 3rd hand high. However, when DUMMY wins the trick, third hand can make an intelligent signal.

There are two possibilities when dummy wins the trick:

1. Dummy wins the trick with an Ace or King

2. Dummy wins the trick with a Queen or less. 

In the first case, signal only if you have a high honor, (Queen or King).

North






♠ A 7 



West





East



♠ J T 4 3 2




♠ Q 9 6






South






♠ K 8 5

West leads the THREE of spades. If dummy plays the Ace, East plays the NINE to indicate possession of either the King or the Queen. 

IF DUMMY WINS THE TRICK WITH A CARD LOWER THAN THE KING, THIRD HAND GIVES THE COUNT SIGNAL.

North






♠ Q J T 



West





East



♠ K 8 7 4 3




♠ 9 6 2





South






♠ A 5

West leads the ♠4 of spades and dummy plays the ♠10. East, who can not beat the ten gives the count (♠9) and West knows that South started with either a doubleton Ace or A 6 5 2. The bidding will often point the way. Later if West gains the lead he can safely lead another low spade to crash the Ace.
North






♠ J T 9 






♥ J T 9






♦ K 8 3





♣ A T 8 4 



West





East



♠ A Q 8 4 3




♠ 7 5 


♥ K 7 6




♥ 8 5 4



♦ T 9 2





♦ J 7 5 4 



♣ 9 6





♣ K 7 5 2






South






♠ K 6 2









♥ A Q 3 2

  






♦ A Q 2













♣ Q J 3

West leads the ♠4, and dummy wins the Nine. East which can not beat the nine gives the count signal with the Five. South may hide the Deuce by playing the Six, but either way, West knows that from ♠ 752 (or ♠765) East would play the Seven. The ♥ J is finessed into West’s ♥K who now knows that South’s ♠K is guarded. West shifts to the ♦ 10 and declarer can not come to 9 tricks without the club finesse. When this loses and a spade is returned, the contract is defeated.

The previous hand may look easy to defend, but change it slightly to this:

North






♠  J T 9 






♥ J T 9






♦ K 8 4






♣ A T 8 4 



West





East



♠ A Q 8 4 3




♠ 7 5 2


♥ K 7 6




♥ 8 5 4



♦ T 9 3





♦ 7 6 4 



♣ 9 6





♣ K Q 7 2






South






♠ K 6 









♥ A Q 3 2








♦ A Q J 5













♣ J 5 3

Now if West doesn’t lay down his ♠ A upon gaining the lead with the ♥ K, declarer runs off with nine tricks. But West KNOWS to play the ♠ A because East played the ♠ SEVEN to show three spades. Now West knows that the Ace will (probably) drop the singleton King in declarer’s hand. 
South	West	North	East


 1NT	   P	 3NT	All Pass





South	West	North	East


  1C	   P	  1D	   P


 1NT	   P	 3NT	All Pass





South	West	North	 East


 1NT	   P	 3NT	All Pass





South	West	North	 East


 1NT	   P	 3NT	All Pass











